- ?p Sy - @ A 2 O 2 2

AR [HEN G RAEITEAE

(B#RzR)

06424




PM,, (ng-m?)

PM,, (ng'm3)

1 7o
i

p—

—
p—
—

I:IIIIE’-‘ IJ

WS:EiE WD:E [ RHARERE

75

50

25

PM10 WS -#- RH <& WD

8 100
.
/ - 6 80
—o—o— -~
T k x
: X
4 sE 60 T
g o«
=
—>
- 2 40
0 20

10 12 14 16 18

Time (hr)

100

75

25

PM10 WS -8~ RH < WD

8 100
===~
\ // 6 80
\ _ vz
S o < 4 E 60 %
g [
>>> o
1 AT, 2 a0
<~
- KA
< (..R
0 20
0 2 4 6 8 10 12 14 16 18
Time (hr)
ERNRFEIRFEEZRmEERHE

It
I
o

AHREMSE
BE

HEZ#&Em= 0 mm

=< AVIN N o -~} = 2
ERREIBREESREE A L) 50



EBTE
BEXIE i AEAE L

—

111/06/13 | 111/06/13

FME
EiEIE T BiSXIE LT

111/06/13 111/06/13 111/06}1 3)‘ ¥



fo— (A= EE w3 yEss 0 | 0000 0 S|ARTiEsE ] ESEEMN |
=3 | (VA= =

BEZZIR(20220613)
! 2 n 15 EERA T ER E

H1E 222 F2E FEEEL $E3E & F4[= FEIRTE S5k FmgEE

B NbE_EEmE_1EEE R

FEZHHS 06A308 145

02 04 06 08 1 12 14

AHERE mEFEE mHEEHE




1115
P EKPI#E

KPI /4 REE
| B /075A8
| ERE/ 18.8%

> HIHIEE
> ERE

KEBZ=S

KPI  /4004F |
Bk /-2E
ZERE/ - %

KPI / S50AER
B5Ehk /- AR
EME/ - %

=g HithB=
= KPI /254 = KPI  /450RE
B52H / 0.56 A8 L B /257218

ZEME/ 5.7%




F1E A F2E s F3E TTHEHR $BaAE TSRS 5= EINHE

= 1
. 1110613 E 01 AE

BEZ288(20220613)
! B L ESEMmIEE

F1E == HF2E Z=H

R EEEE EEEE EEEE EEEE
1) STERIB0S6AE

1) mE MR _E#H 07578

1) 2255 H %= _FhEMRT7 AR
2) BB NI _K#&R10.5ALR
3) 20/ _K#R0.8AtE

4) IHE FEFE_IKRTANE

(-3

i



	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6

